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WEST BENGAL STATE UNIVERSITY

B.Sc. Honours/Programme 2nd Semester Examination, 2019

ZOOHGEC02T/Z0O0OGCORO02T-Z0OLOGY (GE2/DSC2)

Time Allotted: 2 Hours Full Marks: 40

The figures in the margin indicate full marks. 21f&w S 7e5E G o et $11
Candidates should answer in their own words I e IR I T ST VY

and adhere to the word limit as practicable. 5@T PRI

1. Answer any eight questions from the following;: 2x8 =16
frsfeie -ttt wB evem Tea wies

(a) What is Action Potential?
& fRea i 9

(b) Which part of the heart is called ‘Pacemaker’ and why? 1+1
ZRPeA (P WRIF IR 0 GR @ 9

(c) What is ‘Juxta-Glomerular’ Apparatus?
“GIHDI- AT T8 1 2

(d) Distinguish between compound lipid and derived lipid.
A e e o1 frferes st =i @

(e) What do you mean by ‘residual volume’ of lung?
TIPS S’ I F @R 9

(f) What is ‘Rh’ factor?
‘Rh’ factor 1 ¢

(g) From which cell HCI is secreted in human stomach?
WIRCCRS “HIFE (I (1A (/TS HCL e 21 ¢

(h) What do you mean by ‘gluconeogenesis’?
‘serifRerEaieT F@e & @t ¢

(i) What is the function of relaxin?

faenfem-9a I @Rl

(j) What do you mean by proteolytic enzyme? Give two examples. 1+1
ez Trne F ¢ b Trigad wie |

(k) What is sarcomere? Name different contractile protein present in it. 1+1
IR F ¢ s 1fo weeme @i am @

(I) Name two hormones regulating menstrual cycle. 1+1
IG5 R 7o 2ACHCHR I G0 |
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2. Answer any three questions from the following: 3x3=9
forsfeifie -l fafB efvem Ted mes
(a) Describe the structure of a neuron in brief with simple diagram. 1+2

et BTz @t ST (RRTTE) 513w FRTHCA 301 I
(b) Explain the steps of Glycolysis with a flow chart.
< ifbraa MR AREETE qerafe T e
(c) Classify protein with examples.
Twreze RCANe! @fbraa @R T
(d) State the significance of ‘counter-current’ mechanism of kidneys.
@ FITOR-IIFD’ A Sl I T
(¢) Write the hormonal control of spermatogenesis.

IR 263 ZACW fTEe Y32 T FCFCA TR

3 Answer any three questions from the following: 5x3=15
fasfafie - foaft eivas Tes whes
(a) Differentiate between reducing and non-reducing sugar. How lipid is absorbed in 2+3

alimentary canal?

w«ﬁeﬁwq@wmmmmﬁmﬁswmmmm?

(b) What is ‘SA Node’? Draw and label T.S. of mammalian heart. 1+3+1
SA Node® 9 ¢ Tz @3 e Tare foa o <t fofzee <t

(c) Draw and label the histological structure of mammalian pancreas gland. 3+2
e S aftm T oo s e B Fel

(d) What do you mean by blood coagulation? Describe in brief the steps involved in 1+4

blood coagulation.
4o S B @I 2 9G-SR RfSR gef SRewCe 3 TR
(e) Enumerate the mechanism of urine formation in human with suitable diagram. 1+4

T BaTe TFACHCE T8 Teotw (e R wie |

X

2141 2



